AR (AFHERER, REMBRREHETER, RIENERER,

REMERFREFRTRRUBRIENERE)

HEBMOELE
K
HEFES HEESR et B thig
BIER EREEXHEZMES —
128 A
SN — THBUEHE | _pyis | smme | pemER | BB | BenRE | BRRH
RS S LESS[OF=F 1EHER EEBER HpEE EEBER R

% % % % %
148 £HFEAR 1% g 0.961 42 0.467 - —
0.969 43 0.465 — -
2% = 0.493 25 0.283 — -
=l 0.513 26 0.284 — —
3% = 0.238 1.9 0.147 — -
=l 0.267 2.0 0.151 — —
FHEZRAR 2% = 0.601 2.9 0.324 — -
=l 0.621 3.1 0.319 — —
3% = 0.323 2.1 0.187 — -
=l 0.355 2.3 0.186 — —
4%| = 0.206 1.9 0.113 — -
=l 0.248 2.1 0.116 — —
KEWRAHEEFAK 9% 3 1.013 43 0.543 - -
=l 1.022 44 0.542 — —
8% = 0.489 25 0.314 — -
=l 0.509 26 0.315 — —
7% = 0.287 2.0 0.192 — -
£l 0.318 2.1 0.198 — —
—=A55 3% - 0.415 2.5 0.212 — —
4% 0.269 2.1 0.136 — -
53| - 0.169 2.0 0.068 — -
2% £HFEAR 1% g 1.436 6.3 0.697 — -
1.448 6.4 0.694 — -
2% = 0.736 37 0.423 — -
=l 0.766 39 0.425 — —
3% = 0.356 2.8 0.219 — -
=l 0.399 30 0.225 — —
FHEZRAR 2% = 0.898 43 0.484 - —
=l 0.928 46 0.477 — —
3% = 0.483 3.1 0.279 — -
=l 0.530 34 0.277 — —
4%| = 0.308 2.8 0.168 — -
=l 0.371 3.1 0.173 — —
KEWRAHEFAX 9% g 1.514 6.4 0.811 - -
1.527 6.6 0.809 - -
8% = 0.730 37 0.469 — -
=l 0.760 39 0.471 — —
7% = 0.429 30 0.288 — -
£l 0.475 3.1 0.297 — —
—=AH5 3% - 0.620 3.7 0.317 — —
4%| 0.402 3.1 0.203 — -
5% - 0.252 30 0.101 — -
3% £HFEAR 1% g 0.903 39 0.438 — -
0.910 40 0.437 — -
2% = 0.463 2.3 0.266 — -
=l 0.481 2.4 0.267 — —
3% = 0.224 18 0.138 — -
=l 0.251 1.9 0.141 — —
FHEZRAR 2% = 0.565 2.7 0.304 — -
=l 0.584 2.9 0.300 — —
3% = 0.303 2.0 0.175 — -
=l 0.333 2.2 0.174 — —
4%| = 0.194 18 0.106 — -
=l 0.233 2.0 0.109 — —
KEWRAHEFAK 9% g 0.952 40 0510 - -
0.960 41 0.509 - -
8% = 0.459 2.3 0.295 — -
=l 0.478 2.4 0.296 — —
7% = 0.270 1.9 0.181 — -
£l 0.299 2.0 0.186 — —
—=AH5 3% - 0.390 2.3 0.200 — —
4%| - 0.253 2.0 0.127 — -
5% - 0.158 1.9 0.064 — -




fMEFES HEER T E frtthig
EIRE EREEXAFHES Big ENLTH
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
= > TR AR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
2R BIREEEHAFMES B RSAT
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — -
<) 0.076 1.9 0.001 - -
fMEFES HEER et E frtthig
EIRE EREEXAFHES EREFMET
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
2R BIREEEHAFMES B R /\iBEH
NN N HIBIEEE | _mais | mpme | mewEd | SRR | REDEE | BERE
7 AE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — -
o) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
EIRE EREEXAFHES EREHEED
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
EIRE EREEEAFHES EREwEET
RN E— IRMERE | gy | same | memEn | mRN | 2enRw | BER
=7 = HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.287 15 0.263 - -
0.348 2.0 0.255 — —
2%| = 0.009 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.008 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEER T E Rty
2R BIREEEHAFMES B R RMNT
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 *AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — -
<) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
EIRE EREEXAFHES EREFFH
P, P TIBEEIR | _gaug | spme | memEs | BRE | BADES | BRRY
= = HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
2R BIREEEHAFMES BIEEMEFRT
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.107 15 0.083 - -
0.168 2.0 0.075 - -
2%| 3 0.009 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.008 1.4 0.001 — —
o) 0.076 1.9 0.001 - -
fMEFES HEER T E frtthig
EIRE EREEXAFES EREBFH
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
EIRE EREEXAFHES EREFET
RN E— IRMERE | gy | same | memEn | mRN | 2enRw | BER
=7 = HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
2R BIREEEHAFMES BT S
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 *AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — —
<) 0.076 1.9 0.001 - -
fMEFES HEER et E frtthig
EIRE EREEXAFHES EREFENRBAL SR
RN I RMERE | gy | swme | memEw | mRe | 2enRw | BER
= = HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
2R BIREEEHAFMES 215 B FF ERIATET
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — —
o) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
EIRE EREEXAFHES EIREFF AR
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
EIRE EREEEAFHES EREEZMATFH
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
=7 = HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEER T E Rty
2R BIREEEHAFMES 215 2 TR EMF S ET
NN — TIBEEE | _guis | sxpme | memEs | RRE | BEDRE | BRRE
7 *AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.985 1.6 0.945 - -
1.040 2.1 0.929 - -
2%| 3 0.018 1.5 0.001 - -
o) 0.085 1.9 0.001 - -
3% = 0.009 1.4 0.001 — —
<) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
EIRE EREEXAFHES E iR B MER LR ET
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= = HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
2R BIREEEHAFMES BiE 2 L FRIER B ILET
NN — TIBEEE | _guis | sxpse | memEs | RRE | BEDRE | BERE
7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — —
o) 0.076 1.9 0.001 - -
fMEFES HEER T E frtthig
ZiEE EREEXAFES ERE AT A Z AT
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




MR GUEHERER REMBERERTE, RIRNERE RENESRERSTERUBREHARE)

HEENDIEE
EEFFER HEES T E Rty
BIER BEEREAFES BIER
TIBERIE | _guig | smme | meman | GRS LRy | BERY
BR 5 BlZAR . | S =1 i ! o dlRiaatic :
IR AR BHOEE ZAER TAEIE R s TAEIE R s

% % % % %
- iAo TIIRAN 1% 3 3.465 23 2.712 — —
o) 8.206 9.1 2.033 - -
2%| 3 1.796 23 1.026 - -
o) 7.025 9.2 0.733 - -
3% i 0.757 2.3 0.001 - -
ﬁ J— J—



AR (AFHERER, REMBRREHETER, RIENERER,

REMERFREFRTRRUBRIENERE)

HEBMOEE
=
HEFES HEESR et B thig
BIER BIREEEEHFHES —
128 A

SN — THBUEHE | _pyis | smme | pemER | BB | BenRE | BRRH

RS S BHogaE 1EHER EEBER HpEE EEBER R
% % % % %
158 £HFEAR 1% g 5.081 73 1.766 — -
5.250 7.9 1.663 - -
2% = 3.362 5.6 1.053 — -
=l 3.824 6.7 0.907 — —
3% = 2.107 41 0.589 — -
=l 2.800 58 0.433 — —
FHEZRAR 2% = 3617 5.6 1.264 — -
=l 4137 7.1 1,008 — —
3% = 2.243 42 0.681 — -
=l 3.091 6.2 0.502 — —
4%| = 1.352 33 0.320 — -
=l 2.457 5.7 0.172 — —
KEWRAHEEFAK 9% g 6.426 10.3 1.690 - -
6.603 10.7 1.637 - -
8% = 4717 7.4 1.490 — -
=l 5.166 8.6 1.359 — —
7% = 3.673 58 1.359 — -
=l 4337 73 1.190 — —
1288 £MHEAHK 1% g 4.896 7.1 1.702 — -
5.059 7.6 1.602 - -
2% = 3.240 5.4 1,015 — -
=l 3.685 6.5 0.874 — —
3% = 2.030 40 0.568 — -
=l 2.698 5.6 0417 — —
FHEZRAR 2% = 3.485 5.4 1.218 — -
=l 3.987 6.9 0.971 — —
3% = 2.162 41 0.656 — -
=l 2.978 6.0 0.484 — —
4%| = 1.303 32 0.309 — -
=l 2.368 55 0.165 — —
KEWRAHEEFAK 9% g 6.192 10.0 1.628 - -
6.363 10.4 1577 - -
8% = 4545 7.2 1.436 — -
=l 4978 8.3 1.309 — —
7% = 3.539 5.6 1.309 — -
£l 4179 7.1 1.147 — —




fMEFES HEZES T E i tthig
ZiER BREEEHFHES Big ENLH
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| i3 4856 25 4.249 - -
=l 6.069 5.9 3.669 - -
2%| = 2627 1.6 2.509 - -
=l 4174 49 2.275 - -
3% = 1.576 1.6 1.459 - -
=l 3.309 5.2 1.280 - -
4% A TYIRAR 1Z| 3 4767 24 4224 - -
" 5.979 5.8 3.637 - -
2%| = 2.644 1.7 2.463 - -
=l 4172 5.1 2177 - -
3% = 1.284 1.6 1.167 - -
=l 3.044 5.1 1.035 - -
78 iAo TYIRAR 1Z| 3 0.592 16 0.477 - -
=l 1.884 42 0.387 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
8%  thi o TYIRAR 1Z| 3 0.100 15 0.042 - -
=l 1.779 40 0.012 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
1358 g/ oTvIRAR 1Z| i3 4883 32 3.905 - -
=l 6.110 6.9 3.153 - -
2%| = 2015 1.9 1.742 - -
=l 3.701 5.4 1.540 - -
3% = 0.851 1.5 0.775 - -
=l 2.720 5.2 0.691 - -
1458 g/ TYvIRAR 1Z| i3 6.234 29 5.428 - -
" 7.396 6.6 4617 - -
2%| = 3.074 2.1 2.702 - -
=l 4.647 5.8 2.284 - -
3% = 0.887 1.6 0.770 - -
=l 2.756 5.2 0.691 - -
MEFES HEEL #iEt B G tthisg
ZiRE BIREEEHFMES B RSAT
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 5.181 25 4588 — -
o) 6.336 6.0 3.882 - -
2%| = 2.778 1.7 2.606 - -
o) 4316 5.0 2.366 - -
3% i 1.702 1.6 1.585 - -
o) 3428 5.2 1.399 - -
448 AU TVIRAR 12| i3 5.825 25 5.223 - -
o) 6.967 59 4564 - -
2%| = 3.322 1.7 3.141 - -
o) 4.808 5.1 2813 - -
3% " 1.666 1.7 1.486 - -
o) 3.388 53 1.289 - -
78 A TYIRAR 12| i 0.592 1.6 0.477 - -
o) 1.884 42 0.387 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% i 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
8% iAo T RAR 12| = 0.100 15 0.042 — —
o) 1.779 40 0.012 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% = 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
1358 Ao TFvIRAR 1% 3 5.632 38 4.349 - -
o) 6.787 7.6 3477 - -
2%| = 1.893 2.1 1.521 - -
o) 3532 538 1.169 - -
3% 3 0.027 1.4 0.001 - -
o) 1.953 5.0 0.001 - -
144 iAo FvIRAR 1% i 6.186 49 4315 - -
o) 7.326 8.6 3.486 - -
2%| = 2.243 2.1 1.854 - -
o) 3.881 538 1.537 - -
3% " 0.318 1.6 0.187 - —
o) 2.202 53 0.095 - -




fMEFES HEZES T E i tthig
ZiER BREEEHFHES ZREFHNET
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 7.394 25 6.801 - -
=l 8.432 5.9 6.023 - -
2%| = 4581 20 4238 - -
=l 5.941 5.6 3.698 - -
3% = 2.065 1.7 1.905 - -
=l 3.771 5.2 1.708 - -
4% A TYIRAR 1Z| 3 6.283 25 5.690 - -
" 7.389 5.9 4.980 - -
2%| = 3.332 20 2.989 - -
=l 4768 5.6 2.525 - -
3% = 1.003 1.6 0.902 - -
=l 2.787 5.1 0.807 - -
78 iAo TYIRAR 1Z| 3 0.592 16 0.477 - -
=l 1.884 42 0.387 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
8%  thi o TYIRAR 1Z| 3 0.100 15 0.042 - -
=l 1.779 40 0.012 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
1358 g/ oTvIRAR 1Z| i3 5.348 2.8 4582 - -
=l 6.540 6.6 3.761 - -
2%| = 1.407 2.1 1.035 - -
=l 3.084 5.8 0.743 - -
3% = 0.027 14 0.001 - -
=l 1.953 5.0 0.001 - -
1458 g/ TYvIRAR 1Z| i3 5.882 2.8 5.116 - -
" 7.046 6.6 4.267 - -
2%| = 1.905 23 1.424 - -
=l 3.539 6.0 1.064 - -
3% = 0.065 15 0.001 - -
=l 1.989 5.1 0.001 - -
MEFES HEEL #iEt B G tthisg
ZiRE BIREEEHFMES B R /\IBEH
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 3.413 20 3.069 — -
o) 4745 53 2.658 - -
2%| = 1.768 1.6 1.667 - -
o) 3.379 49 1.524 - -
3% i 1.268 15 1.207 - -
o) 3.037 5.0 1.094 - -
448 AU TVIRAR 12| i 5.730 25 5.137 - -
o) 6.849 6.0 4.394 - -
2%| = 3.025 1.9 2.762 - -
o) 4514 53 2.410 - -
3% " 1.334 1.6 1.217 - -
o) 3.082 5.2 1.053 - -
78 A TYIRAR 12| i 0.592 1.6 0.477 - -
o) 1.884 42 0.387 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% i 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
8% iAo T RAR 12| = 0.100 15 0.042 — —
o) 1.779 40 0.012 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% = 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
1358 Ao TFvIRAR 1% 3 3.383 25 2.792 - -
o) 4758 6.0 2.305 - -
2%| = 0.836 1.7 0.666 - -
o) 2.594 5.2 0.544 - -
3% 3 0.027 1.4 0.001 - -
o) 1.953 5.0 0.001 - -
144 iAo FvIRAR 1% i 4427 2.7 3.720 - -
o) 5.716 6.3 3.089 - -
2%| = 1.495 1.7 1.300 - -
o) 3.198 53 1.086 - -
3% " 0.221 15 0.145 - —
o) 2123 5.2 0.094 - -




fMEFES HEZES T E i tthig
ZiER BREEEHFHES BREHEET
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 5.492 25 4.899 - -
=l 6.645 5.9 4218 - -
2%| = 2.733 1.9 2.470 - -
=l 4.245 5.3 2.150 - -
3% = 1.346 1.6 1.233 - -
=l 3.109 5.1 1.118 - -
4% A TYIRAR 1Z| 3 7.710 32 6.742 - -
" 8.618 7.0 5.625 - -
2%| = 3.984 22 3535 - -
=l 5.375 5.8 3.018 - -
3% = 1.613 1.7 1.440 - -
=l 3.343 5.3 1.262 - -
78 iAo TYIRAR 1Z| 3 0.592 16 0.477 - -
=l 1.884 42 0.387 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
8%  thi o TYIRAR 1Z| 3 0.100 15 0.042 - -
=l 1.779 40 0.012 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
1358 g/ oTvIRAR 1Z| i3 7.007 2.7 6.311 - -
=l 8.199 6.1 5.665 - -
2%| = 4.396 2.1 4.024 - -
=l 5.916 5.7 3.593 - -
3% = 2613 1.7 2.420 - -
=l 4357 55 2.146 - -
1458 g/ TYvIRAR 1Z| i3 6.164 3.1 5.252 - -
" 7.399 6.5 4.656 - -
2%| = 2.993 23 2512 - -
=l 4569 6.0 2.099 - -
3% = 0.844 1.6 0.713 - -
=l 2.698 5.3 0.587 - -
MEFES HEEL #iEt B G tthisg
ZiRE BIREEEHFMES B RmEET
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 4.640 22 4.190 — -
o) 5.856 5.6 3.600 - -
2%| = 2.054 1.7 1.873 - -
o) 3618 5.1 1.623 - -
3% i 1.122 15 1.061 - -
o) 2.900 5.0 0.957 - -
448 AU TVIRAR 12| i 6.342 32 5.374 - -
o) 7.329 70 4.336 - -
2%| = 2.689 20 2.360 - -
o) 4197 5.4 2.031 - -
3% " 1.106 1.6 0.989 - -
o) 2.869 5.2 0.844 - -
78 A TYIRAR 12| i 0.592 1.6 0.477 - -
o) 1.884 42 0.387 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% i 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
8% iAo T RAR 12| = 0.100 15 0.042 — —
o) 1.779 40 0.012 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% = 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
1358 Ao TFvIRAR 1% i 4028 26 3.361 - -
o) 5.369 6.1 2.843 - -
2%| = 1.345 1.9 1.068 - -
o) 3.043 55 0.826 - -
3% 3 0.027 1.4 0.001 - -
o) 1.953 5.0 0.001 - -
144 iAo FvIRAR 1% i 3.070 2.3 2.587 - -
o) 4477 5.7 2.158 - -
2%| = 0.876 1.7 0.681 - -
o) 2614 53 0.502 - -
3% " 0.027 1.4 0.001 - —
o) 1.953 5.0 0.001 - -




fMEFES HEZES T E i tthig
ZiER BREEEHFHES B EXME
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 5.356 32 4381 - -
=l 6.491 6.7 3.668 - -
2%| = 2.897 1.7 2.716 - -
=l 4.409 5.1 2414 - -
3% = 1.194 1.7 1.014 - -
=l 2.930 5.4 0.801 - -
4% A TYIRAR 1Z| 3 5.028 33 4.005 - -
" 6.163 6.8 3.258 - -
2%| = 1.596 1.9 1.297 - -
=l 3.178 5.4 1.052 - -
3% = 0.496 1.5 0.435 - -
=l 2.312 5.0 0.369 - -
78 iAo TYIRAR 1Z| 3 0.592 16 0.477 - -
=l 1.884 42 0.387 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
8%  thi o TYIRAR 1Z| 3 0.100 15 0.042 - -
=l 1.779 40 0.012 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
1358 g/ oTvIRAR 1Z| i3 4.862 2.7 4159 - -
=l 6.128 6.3 3.505 - -
2%| = 1.705 1.9 1.410 - -
=l 3.372 5.6 1.120 - -
3% = 0.065 1.5 0.001 - -
=l 1.990 5.1 0.001 - -
1458 g/ TYvIRAR 1Z| i3 4774 29 3.954 - -
" 5.995 6.7 3.164 - -
2%| = 1.255 1.9 0.978 - -
=l 2.948 5.6 0.712 - -
3% = 0.027 14 0.001 - -
=l 1.953 5.0 0.001 - -
MEFES HEEL #iEt B G tthisg
ZiRE BIREEEHFMES B EFFH
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 3.367 22 2.938 — —
o) 4718 5.4 2.581 - -
2%| = 1.816 1.6 1.698 - -
o) 3.424 49 1.547 - -
3% i 1.283 15 1.222 - -
o) 3.052 5.0 1.109 - -
448 AU TVIRAR 12| i3 5.275 26 4619 - -
o) 6.454 6.0 3.999 - -
2%| = 2.824 1.7 2.643 - -
o) 4.340 5.1 2.345 - -
3% " 1.369 1.6 1.252 - -
o) 3.115 5.2 1.086 - -
78 A TYIRAR 12| i 0.592 1.6 0.477 - -
o) 1.884 42 0.387 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% i 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
8% iAo T RAR 12| = 0.100 15 0.042 — —
o) 1.779 40 0.012 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% = 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
1358 Ao TFvIRAR 1% 3 4635 24 4101 - -
o) 5.971 5.8 3628 - -
2%| = 2.001 2.1 1.629 - -
o) 3.634 538 1.271 - -
3% = 0.165 1.6 0.054 - -
o) 2.071 52 0.012 - -
144 iAo FvIRAR 1% i 5.620 26 4971 - -
o) 6.845 6.2 4276 - -
2%| = 2.192 2.1 1.820 - -
o) 3.814 538 1.451 - -
3% " 0.171 1.6 0.054 - —
o) 2.077 5.2 0.012 - -




fMEFES HEZES T E i tthig
ZiER BREEEHFHES ZipENEFRT
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 4412 25 3819 - -
=l 5.608 6.0 3.153 - -
2%| = 1.691 1.6 1.573 - -
=l 3.296 49 1.397 - -
3% = 0.964 1.5 0.903 - -
=l 2.751 5.0 0.808 - -
4% A TYIRAR 1Z| 3 5.671 32 4703 - -
" 6.699 7.0 3.706 - -
2%| = 2179 1.7 1.998 - -
=l 3.735 5.1 1.740 - -
3% = 0.850 1.5 0.789 - -
=l 2.644 5.0 0.701 - -
78 iAo TYIRAR 1Z| 3 0.592 16 0.477 - -
=l 1.884 42 0.387 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
8%  thi o TYIRAR 1Z| 3 0.100 15 0.042 - -
=l 1.779 40 0.012 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
1358 g/ oTvIRAR 1Z| i3 5.070 2.3 4587 - -
=l 6.357 5.8 4.009 - -
2%| = 2.541 1.9 2.264 - -
=l 4163 5.6 1.927 - -
3% = 0.791 1.6 0.660 - -
=l 2.648 5.3 0.537 - -
1458 g/ TYvIRAR 1Z| i3 5.604 2.3 5.121 - -
" 6.862 5.8 4514 - -
2%| = 3.046 2.1 2.674 - -
=l 4621 5.8 2.258 - -
3% = 0.825 1.7 0.650 - -
=l 2.681 5.4 0.527 - -
MEFES HEEL #iEt B G tthisg
ZiRE BIREEEHFMES BIREEFH
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 3.703 2.1 3.332 — —
o) 5.032 53 2.922 - -
2%| = 2.003 15 1.929 - -
o) 3.601 48 1.771 - -
3% i 1.551 15 1.490 - -
o) 3.303 5.0 1.360 - -
448 AU TVIRAR 12| i 4211 2.0 3.867 - -
o) 5.502 53 3.401 - -
2%| = 2.589 1.6 2.471 - -
o) 4139 49 2.240 - -
3% " 1.545 15 1.470 - -
o) 3.296 5.0 1.341 - -
78 A TYIRAR 12| i 0.592 1.6 0.477 - -
o) 1.884 42 0.387 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% i 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
8% iAo T RAR 12| = 0.100 15 0.042 — —
o) 1.779 40 0.012 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% = 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
1358 Ao TFvIRAR 1% i 3.492 2.1 3.117 - -
o) 4913 5.4 2.770 - -
2%| = 1.374 1.9 1.097 - -
o) 3.071 55 0.854 - -
3% = 0.193 15 0.117 - -
o) 2.096 52 0.067 - -
144 iAo FvIRAR 1% i 2.800 1.8 2.592 - -
o) 4279 5.0 2.336 - -
2%| = 1.244 1.7 1.049 - -
o) 2.961 53 0.849 - -
3% " 0.065 15 0.001 - —
o) 1.989 5.1 0.001 - -




fMEFES HEZES T E i tthig
ZiER BREEEHFHES ZREFRET
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 4188 2.0 3.844 - -
=l 5.480 5.3 3.379 - -
2%| = 2325 1.6 2.207 - -
=l 3.891 49 1.992 - -
3% = 1.543 1.5 1.482 - -
=l 3.295 5.0 1.352 - -
4% A TYIRAR 1Z| 3 5.920 25 5.327 - -
" 7.040 6.0 4585 - -
2%| = 3.329 1.7 3.148 - -
=l 4815 5.1 2.820 - -
3% = 1.921 1.6 1.804 - -
=l 3.633 5.2 1.604 - -
78 iAo TYIRAR 1Z| 3 0.592 16 0.477 - -
=l 1.884 42 0.387 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
8%  thi o TYIRAR 1Z| 3 0.100 15 0.042 - -
=l 1.779 40 0.012 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
1358 g/ oTvIRAR 1Z| i3 6.037 2.8 5.288 - -
=l 7.281 6.2 4.695 - -
2%| = 2937 23 2.456 - -
=l 4512 6.0 2.034 - -
3% = 0.652 1.5 0.576 - -
=l 2.531 5.2 0.502 - -
1458 g/ TYvIRAR 1Z| i3 6.116 2.8 5.353 - -
" 7.315 6.4 4.634 - -
2%| = 2.895 23 2414 - -
=l 4471 6.0 1.993 - -
3% = 0.688 1.6 0.571 - -
=l 2.567 5.2 0.502 - -
MEFES HEEL #iEt B G tthisg
ZiRE BIREEEHFMES 2 R E L SH
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 3.413 20 3.069 — —
o) 4745 53 2.658 - -
2%| = 1.768 1.6 1.667 - -
o) 3.379 49 1.524 - -
3% i 1.268 15 1.207 - -
o) 3.037 5.0 1.094 - -
448 AU TVIRAR 12| i 5.730 25 5.137 - -
o) 6.849 6.0 4.394 - -
2%| = 3.025 1.9 2.762 - -
o) 4514 53 2.410 - -
3% " 1.334 1.6 1.217 - -
o) 3.082 5.2 1.053 - -
78 A TYIRAR 12| i 0.592 1.6 0.477 - -
o) 1.884 42 0.387 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% i 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
8% iAo T RAR 12| = 0.100 15 0.042 — —
o) 1.779 40 0.012 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% = 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
1358 Ao TFvIRAR 1% i 1.779 1.8 1571 - -
o) 3312 5.0 1.369 - -
2%| = 0.465 15 0.387 - -
o) 2.259 5.0 0.324 - -
3% 3 0.027 1.4 0.001 - -
o) 1.953 5.0 0.001 - -
144 iAo FvIRAR 1% i 2.313 1.8 2.105 - -
o) 3818 5.0 1.875 - -
2%| = 0.990 1.6 0.857 - -
o) 2.737 5.2 0.715 - -
3% " 0.065 15 0.001 - —
o) 1.989 5.1 0.001 - -




fMEFES HEZES #iat B A tthig
ZiER BREEEHFHES ZREFFNBATSRE
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 1.236 1.9 0.971 - -
=l 2.715 5.1 0.747 - -
2%| = 0.050 1.5 0.001 - -
=l 1.870 47 0.001 - -
3% = 0.012 14 0.001 - -
=l 1.869 49 0.001 - -
4% A TYIRAR 1Z| 3 1.128 1.9 0.847 - -
" 2614 5.1 0.631 - -
2%| = 0.013 14 0.001 - -
=l 1.870 47 0.001 - -
3% = 0.012 14 0.001 - -
=l 1.869 49 0.001 - -
78 iAo TYIRAR 1Z| 3 0.592 16 0.477 - -
=l 1.884 42 0.387 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
8%  thi o TYIRAR 1Z| 3 0.100 15 0.042 - -
=l 1.779 40 0.012 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
1358 g/ oTvIRAR 1Z| i3 2.326 20 2.006 - -
=l 3.809 5.3 1.719 - -
2%| = 0.493 1.6 0.382 - -
=l 2.286 5.1 0.319 - -
3% = 0.027 14 0.001 - -
=l 1.953 5.0 0.001 - -
1458 g/ TYvIRAR 1Z| i3 2918 2.0 2.598 - -
" 4.370 5.3 2.280 - -
2%| = 1.154 1.6 1.021 - -
=l 2.893 5.2 0.871 - -
3% = 0.221 15 0.145 - -
=l 2.123 5.2 0.094 - -
MEFES HEEL #iEt B G tthisg
ZiRE BIREEEHFMES 2z B FF ERIRTET
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 2.591 1.9 2.326 — —
o) 4.001 5.0 2.062 - -
2%| = 1.597 15 1.535 - -
o) 3.220 48 1.401 - -
3% i 1.105 15 1.044 - -
o) 2.884 5.0 0.941 - -
448 AU TVIRAR 12| i 4163 2.4 3.609 - -
o) 5.406 538 3.051 - -
2%| = 2.145 1.7 1.994 - -
o) 3.722 5.0 1.792 - -
3% " 1.009 15 0.934 - -
o) 2.793 5.0 0.838 - -
78 A TYIRAR 12| i 0.592 1.6 0.477 - -
o) 1.884 42 0.387 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% i 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
8% iAo T RAR 12| = 0.100 15 0.042 — —
o) 1.779 40 0.012 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% = 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
1358 Ao TFvIRAR 1% i 5.561 2.3 5.078 - -
o) 6.822 5.8 4474 - -
2%| = 2.958 1.9 2.681 - -
o) 4556 5.6 2.320 - -
3% = 0.945 1.7 0.780 - -
o) 2.793 5.4 0.650 - -
1445 A>TV IRAAK 1% 3 6.529 2.8 5.758 - -
o) 7.704 6.4 5.017 - -
2%| = 3.207 23 2.726 - -
o) 4.750 6.1 2.240 - -
3% " 0.590 1.6 0.446 — —
o) 2472 53 0.379 - -




fMEFES HEZES T E i tthig
ZiER BREEEHFHES Zig R FF AR ARET
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 3278 2.0 2.934 - -
=l 4619 5.3 2.532 - -
2%| = 1.768 1.6 1.667 - -
=l 3.379 49 1.524 - -
3% = 1.268 1.5 1.207 - -
=l 3.037 5.0 1.094 — -
4% A TYIRAR 1Z| 3 5.596 25 5.003 - -
" 6.723 6.0 4.268 — -
2%| = 3.025 1.9 2.762 - -
=l 4514 5.3 2.410 — -
3% = 1.334 1.6 1.217 - -
=l 3.082 5.2 1.053 - -
78 iAo TYIRAR 1Z| 3 0.592 16 0.477 - -
=l 1.884 42 0.387 — -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 — -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 — -
8%  thi o TYIRAR 1Z| 3 0.100 15 0.042 - -
=l 1.779 40 0.012 — -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 — -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 — -
1358 g/ oTvIRAR 1Z| i3 2.476 2.3 1.983 - -
=l 3.920 5.7 1.601 - -
2%| = 0.493 1.6 0.382 - -
=l 2.286 5.1 0.319 - -
3% = 0.027 14 0.001 - -
=l 1.953 5.0 0.001 - -
1458 g/ TYvIRAR 1Z| = 3817 24 3.265 - -
" 5.190 5.8 2.818 - -
2%| = 1.427 1.9 1.150 - -
=l 3.121 55 0.904 — -
3% = 0.221 15 0.145 - -
=l 2.123 5.2 0.094 — -
MEFES HEEL #iEt B G tthisg
ZiRE BIREEEHFMES B R =L BAFE
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i

% % % % %
3% iAo T RAR 12| = 2.748 1.8 2529 — -
o) 4.154 49 2.265 - -
2%| 3 1.732 1.6 1.614 - -
o) 3.334 49 1.435 - -
3% i 0.550 1.6 0.433 - -
o) 2.345 5.2 0.316 - -
448 AU TVIRAR 12| i3 4852 2.1 4.465 - -
o) 6.100 53 3.994 - -
2%| = 2.887 1.9 2.624 - -
o) 4.384 53 2.280 - -
3% " 0.496 1.7 0.321 - -
o) 2.293 53 0.210 - -
78 A TYIRAR 12| i 0.592 1.6 0.477 - -
o) 1.884 42 0.387 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% i 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
8% iAo T RAR 12| = 0.100 15 0.042 — -
o) 1.779 40 0.012 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% = 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
1358 Ao TFvIRAR 1% 3 2.799 1.9 2.520 - -
o) 4258 5.2 2.207 - -
2%| = 1.099 1.6 0.966 - -
o) 2.840 5.2 0.818 - -
3% = 0.062 15 0.001 - -
o) 1.986 5.1 0.001 - -
144 iAo FvIRAR 1% i 5.266 2.3 4770 - -
o) 6.562 5.7 4.241 - -
2%| = 3.179 1.9 2.902 - -
o) 4765 5.6 2.529 - -
3% 3 1.575 1.6 1.461 - —
o) 3.409 5.2 1.347 - -




fMEFES HEZES #iat B A tthig
ZiER BREEEHFHES Zig R FEFHEF SR
VN~ | A
N — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 3.000 2.0 2.656 - -
=l 4.344 5.3 2.243 - -
2%| = 1.224 1.6 1.106 - -
=l 2.860 49 0.967 — -
3% = 0.606 1.5 0.545 - -
=l 2.415 5.0 0.472 — -
4% A TYIRAR 1Z| 3 3.791 25 3.186 - -
" 5.028 6.0 2.563 - -
2%| = 1.264 1.7 1.083 - -
=l 2.882 5.1 0.900 - -
3% = 0.482 1.5 0.421 - -
=l 2.298 5.0 0.355 - -
78 iAo TYIRAR 1Z| 3 0.592 16 0.477 - -
=l 1.884 42 0.387 — -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 — -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 — -
8%  thi o TYIRAR 1Z| 3 0.100 15 0.042 - -
=l 1.779 40 0.012 — -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 — -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 — -
1358 g/ oTvIRAR 1Z| i3 2.515 1.9 2.236 - -
=l 3.989 5.2 1.938 - -
2%| = 0.751 1.7 0.581 - -
=l 2514 5.2 0.464 — -
3% = 0.027 14 0.001 - -
=l 1.953 5.0 0.001 - -
1458 g/ TYvIRAR 1Z| i3 3.107 1.9 2.828 - -
" 4550 5.2 2.499 — -
2%| = 1.410 1.7 1.215 - -
=l 3.118 5.3 1.006 - -
3% = 0.221 15 0.145 - -
=l 2.123 5.2 0.094 — -
MEFES HEEL #iEt B G tthisg
ZiRE BIREEEHFMES 21z B FRIEBIEFET
V- | P
NN —— IBIERIE | _gan | spme | memd@m | GRE | BenRE | BERS
SRS L SIOE=F 3 BER BERER i BERER i

% % % % %
3% iAo T RAR 12| 3 1.122 1.6 1.003 — -
o) 2.638 47 0.864 - -
2%| = 0.330 15 0.268 - -
o) 2.031 48 0.212 - -
3% i 0.012 1.4 0.001 - -
o) 1.869 49 0.001 - -
448 AU TVIRAR 12| i 1.049 1.7 0.876 - -
o) 2.569 48 0.744 - -
2%| = 0.198 1.5 0.136 - -
o) 1.908 48 0.089 - -
3% " 0.012 1.4 0.001 - -
o) 1.869 49 0.001 - -
78 A TYIRAR 12| i 0.592 1.6 0.477 - -
o) 1.884 42 0.387 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% i 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
8% iAo T RAR 12| = 0.100 15 0.042 — -
o) 1.779 40 0.012 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% = 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
1358 Ao TFvIRAR 1% i 3.245 2.3 2.762 - -
o) 4643 5.7 2.324 - -
2%| = 0.661 1.7 0.491 - -
o) 2.429 5.2 0.379 - -
3% 3 0.027 1.4 0.001 - -
o) 1.953 5.0 0.001 - -
144 iAo FvIRAR 1% i 4631 25 4.026 - -
o) 5.909 6.1 3.384 - -
2%| = 1.794 1.9 1517 - -
o) 3457 5.6 1.221 - -
3% " 0.221 15 0.145 - —
o) 2123 5.2 0.094 - -




fMEFES HEZES #iat B A tthig
ZiER BREEEHFHES Zig R FRIER R L ET
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 A TYIRAR 1Z| 3 0.754 15 0.691 - -
=l 2.306 45 0.615 - -
2%| = 0.230 1.5 0.168 - -
=l 1.937 48 0.118 - -
3% = 0.012 14 0.001 - -
=l 1.869 49 0.001 - -
4% A TYIRAR 1Z| 3 0.666 16 0.567 - -
" 2.223 46 0.498 - -
2%| = 0.095 1.5 0.033 - -
=l 1.870 48 0.001 - -
3% = 0.012 14 0.001 - -
=l 1.869 49 0.001 - -
78 iAo TYIRAR 1Z| 3 0.592 16 0.477 - -
=l 1.884 42 0.387 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
8%  thi o TYIRAR 1Z| 3 0.100 15 0.042 - -
=l 1.779 40 0.012 - -
2%| = 0.011 14 0.001 - -
=l 1.778 45 0.001 - -
3% = 0.009 14 0.001 - -
=l 1.777 47 0.001 - -
1358 g/ oTvIRAR 1Z| i3 8.148 2.7 7.441 - -
=l 9.240 6.3 6.613 - -
2%| = 4.883 23 4.402 - -
=l 6.326 6.1 3.803 - -
3% = 2.049 1.7 1.856 - -
=l 3.822 55 1.611 - -
1458 g/ TYvIRAR 1Z| i3 8.681 2.7 7974 - -
" 9.746 6.3 7.119 - -
2%| = 5.374 25 477 - -
=l 6.746 6.5 4019 - -
3% = 2.082 18 1.841 - -
=l 3.852 5.6 1.596 - -
MEFES HEEL #iEt B G tthisg
ZiRE BIREEEHFMES 2 S m T E AT
V- | P
NN —— FHMERE | —mym | xpme | mewmEn | GRH | REREN | ERRE
SRS L SIOE=F 3 BER BERER i BERER i
% % % % %
3% iAo T RAR 12| = 3.881 1.7 3.699 — —
o) 5.209 49 3.340 - -
2%| = 2.534 1.7 2.353 - -
o) 4.068 5.1 2.073 - -
3% i 1111 15 1.050 - -
o) 2.890 5.0 0.947 - -
448 AU TVIRAR 12| i 2.777 1.7 2.595 - -
o) 4173 49 2.304 - -
2%| = 1.293 1.7 1.112 - -
o) 2.904 5.1 0.909 - -
3% " 0.012 1.4 0.001 - -
o) 1.869 49 0.001 - -
78 A TYIRAR 12| i 0.592 1.6 0.477 - -
o) 1.884 42 0.387 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% i 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
8% iAo T RAR 12| = 0.100 15 0.042 — —
o) 1.779 40 0.012 - -
2% = 0.011 14 0.001 - -
o) 1.778 45 0.001 - -
3% = 0.009 1.4 0.001 - -
o) 1.777 47 0.001 - -
1358 Ao TFvIRAR 1% i 5.706 2.3 5.223 - -
o) 6.959 5.8 4611 - -
2%| = 3.045 1.9 2.768 - -
o) 4638 5.6 2.402 - -
3% = 1.438 15 1.362 - -
o) 3277 52 1.248 - -
144 iAo FvIRAR 1% i 6.240 2.3 5.757 - -
o) 7.465 538 5117 - -
2%| = 3.549 2.1 3.177 - -
o) 5.096 538 2.733 - -
3% " 1.474 1.6 1.357 - —
o) 3313 5.2 1.248 - -
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